SBC V=Z7L=l AT A

SBI- FL / FLL SER

Mro
;
o
& &
Myo
¥ & H
¢
HAIL~HE JOvI~E
S0k H W L E LR L1 | Tx1| K T1 | N1 | T2 | N2 | Q1 [*%Q2
B J M S

SBI15FL 24 | 47 1638 | 3 38 | 30 | M5 | M4 (452 | 9 21 | 45| 55| 3.8 | 3.8 |Mx0.7 |®3.5
SBI15FLL | 24 | 47 | 794 | 3 38 | 30 | M5 | M4 |[60.8| 9 21 | 45| 55| 3.8 | 3.8 |MiX07 |D®3.5
SBI20FL 30 | 63 |788| 46| 53 | 40 | M6 | M5 |56.8| 12 (254 6 12 58| 5 |MeX0.75|®3.5
SBI20FLL| 30 | 63 (964 | 46 | 53 | 40 | M6 | M5 |744| 12 (254 6 12 58 | 5 |MeX0.75|®3.5
SBI25FL 36 | 70 | 92 | 55| 57 | 45 M8 | M6 | 70 | 14 305 6 12 5 5 [M6x0.75| ®3.5
SBI25FLL| 36 | 70 | 108 | 55| 57 | 45 | M8 | M6 | 86 | 14 | 30.5| 6 12 5 5 |M6x0.75|®3.5
SBI3OFL 42 | 90 |1076| 7 72 | 52 |M10| M8 |79.6|155| 35 | 85| 12 7.8 | 5 |MeX0.75| ®5.7
SBISBOFLL | 42 | 90 (1316| 7 72 | 52 |M10| M8 [103.6/155| 35 | 85| 12 7.8 | 5 |M6x0.75| ®5.7
SBI35FL 48 | 100 [1246| 75| 82 | 62 (M10| M8 |[946| 15 405 8 12 8 6 [M6x0.75| ®5.7
SBI35FLL | 48 | 100 (1526 7.5 | 82 | 62 |[M10| M8 [122.6/ 15 |405 8 12 8 6 [M6X0.75| ®5.7
SBI45FL 60 | 120 | 142 9 |100| 80 |M12|M10| 108 | 18 | 51 | 10.5|13.5| 9.3 | 6.5 |PT1/8|/®5.7
SBI45FLL| 60 | 120|174 | 9 |100| 80 |M12|M10|140| 18 | 51 | 10.5/13.5| 9.3 | 6.5 |PT1/8|®5.7
SBI5S5FL 70 | 140 [1724] 12 | 116| 95 M14|M12|131 | 22 | 68 | 12 | 13 | 12 8 |PT1/8|08.7
SBIS5FLL| 70 | 140 (211.8| 12 | 116 | 95 |[M14|M12(170.4] 22 | 58 | 12 | 13 | 12 8 |PT1/8|®8.7
SBI6G5SFL 90 | 170 (2198 19 | 142|110 |M16|M14|{170.4] 26 | 71 14 | 13 | 14 | 10 |PT1/8|08.7
SBIGSFLL | 90 | 170 (2722 19 | 142 | 110 | M16 | M14 222.8| 26 | 71 14 | 13 | 14 | 10 |PT1/8|®8.7

XS THEE T BIHBEDRIETT,

% Q2 : fllm=w FILEYTAIN T,

XY X 45 FTEEMRR (P.591) OMEAEZFE—EAMTY.
45 B P EDMERIEBREIVEDE &0,

614



Linear Rail system

/Mpo\
N1 L
L1 N2  4-Q23%
J
b | |
”ﬂk T
] T
/ HE
Al
G F
LO
BSGT : mm
L—IU~HE BATEREE | BERFETE—XUN =
VJURER{FIT RARS BT | FEERS [KN-m] JwOs | L—Ib
W1 | W2 | Hi F G
d D h LO |C(KN)|Co(KN)| Mro | Mpo | Myo | [kg] |[Kg/m]

15 16 13 60 4.5 75 | 55 20 |3,000| 141 | 241 | 016 | 0.17 | 0.17 | 0.19 | 1.3
15 16 13 60 7o | BB 20 |4,000| 17.1 | 31.7 | 021 | 0.29 | 0.29 | 0.26 | 1.3
20 | 215 ] 165 | 60 95 | 85 20 |4,000| 222 | 382 | 0.36 | 0.33 | 0.33 | 041 | 22
20 | 215 | 165 | 60 95 | 85 20 |4,000| 279 | 50 | 0.47 | 0.56 | 0.56 | 0.54 | 2.2
23 | 235 | 20 60 11 9 20 |4,000| 31.5| 52.1 | 0.56 | 0.56 | 0.56 | 0.69 3
23 | 235 | 20 60 11 9 20 |4,000| 36.7 | 64.4 | 0.69 | 0.84 | 0.84 | 0.85 3
28 31 23 80 14 12 20 |4,000| 42.8 | 654 | 085 | 0.77 | 0.77 | 1.04 | 4.25
28 31 23 80 14 12 20 |4,000| 51.3 | 84.7 | 1.10 | 1.3 1.3 | 1.37 | 425
34 33 26 80 14 12 20 |4,000| 595 | 89.1 | 142 | 1.28 | 1.28 | 1.56 | 6.02
34 33 26 80 14 12 20 |4,000| 71.3 |[1163| 1.83 | 212 | 212 | 2.04 | 6.02
45 | 375 | 32 | 105 20 17 | 225 14,000| 79.2 |116.3| 248 | 1.9 19 | 28 | 9.77
45 | 375 | 32 | 105 20 17 | 225 14,000 948 |[150.5| 321 | 3.14 | 3.14 | 3.69 | 9.77
53 | 435 | 38 | 120 23 20 30 |4,000|127.3{181.8| 4.81 | 297 | 297 | 442 |13.72
53 | 435 | 38 | 120 23 20 30 |4,000|147.9|224.5| 595 | 4.78 | 4.78 | 5.82 |13.72
63 | 535 | 53 | 150 26 22 35 |4,000|188.3|261.7| 824 | 557 | 657 | 9.1 |23.17
63 | 535 | 583 | 150 26 22 35 |4,000|232.5|354.111.15| 9.86 | 9.86 |11.98|23.17

—_ a4 A a4 A
® ® ® ® B B ©© © O NNO O

615



